

BID TAB: 04-IFB-CNP-2122 Kitchen Smallware

ACE MART Restaurant Supply 2653 Austin Hwy. San Antonio, TX. 78218 Rebecca Knefic 210-323-4442 / rkenefic@acemart.com

TARI, Inc. DBA Jeans Restaurant Supply 426 S. Staples Corpus Christy, TX. 78404 Mike Pingu 956-688-6290 / mikep@jeansrs.com

Line Item	Imaria	Item Name	Description	Estimated Quantities requested (in units, not cases)	Equivalent brand	Unit Price	Extended Price	Notes	Equivalent brand	Unit Price	Extended Price	Notes
1	illego	BRUSH	Carlisle Model No. 4037500 (COP40375) Packed 12 ea Sparta® Chef Series™ Basting Brush, 3" wide epoxy-set bristles, double-boiled, heat resistant up to 500°F, water-resistant, brown plastic ferrules, lacquered hardwood handle, boars hair, bleached, Made in USA	126	brand	\$9.47	\$1,193.22	4037500	4037500	\$8.76	\$1,103.76	110103
2		BUN/SHEET PAN	Vollrath Model No. (9003) Packed 12 ea Sheet Pan, full size, 18"W x 26"D x 1"H (45.1 x 65.4 x 2.54cm), economy weight, 19 gauge aluminum alloy, Made in USA	1,168		\$11.02	\$12,871.36	Does not include broken case fee (\$5.10) everytime case is broken.	1168	\$10.52	\$12,287.36	
3		BUN/SHEET PAN	Vollrath Model No. 9002P (VOL5325) Packed 12 ea Wear-Ever® Sheet Pan, full size, 18"W x 26"D x 1"H, 18 gauge aluminum alloy, natural finish, perforated, Made in USA	685		\$10.62	\$7,274.70	9002P	9002P	\$19.76	\$13,535.60	
4		BUN/SHEET PAN	Vollrath Model No. (9303) Packed 12 ea Sheet Pan, 1/2 size, 18"W x 13"D x 1"H (45.1 x 32.7 x 2.54cm), economy weight, 19 gauge aluminum alloy, Made in USA	322		\$8.86	\$2,852.92	Does not include broken case fee (\$5.10) everytime case is broken.	9303	\$7.66	\$2,466.52	
5		BUN/SHEET PAN	1/2 Size But Perforated	92			\$0.00	NO BID	530P	\$20.37	\$1,874.04	
6		STEAM TABLE PAN, STAINLESS STEEL	Rest-Rite™ Steam Table Pan, 1/2 size, 7 qt., 12-3/4* x 10- 3/8* x 4* deep, rectangular, anti-jamming, perforated, 22 gauge 18/8 stainless steel, NSF	106	Vollrath	\$12.07	\$1,279.42	20249 and does not include broken case fee (\$5.10) everytime case is broken.	22124	\$16.80	\$1,780.80	
7		STEAM TABLE PAN, STAINLESS STEEL	Vollrath 30642 Packed 6 ea, Super Pan V® Food Pan, 1/6 size, 4" deep, 1.8 qt capacity, 22 gauge, 300 series stainless steel, reinforced pour corners, reverse formed flattened edges, anti-jamming design, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	80	Vollrath	\$10.92	\$873.60	Does not include broken case fee (\$5.10) everytime case is broken.	30642	\$13.07	\$1,045.60	
8		STEAM TABLE PAN COVER, STAINLESS STEEL	Alegacy Foodservice Products Model No. CP8002 Packed 12 ea Rest-Rite™ Steam Table Pan Cover, full size, 21" x 12-7/8", rectangular, solid flat, with handle, 24 gauge 18/8 stainless steel, NSF	302	Vollrath	\$14.63	\$4,418.26	77259 and does not include broken case fee (\$5.10) everytime case is broken.	575528	\$16.06	\$4,850.12	
9		STEAM TABLE PAN, STAINLESS STEEL	Vollrath Model No. (30022) Packed 6 ea Super Pan V® Food Pan, full size, 2-1/2" deep, 8.3 qt capacity, 22 gauge, 300 series stainless steel, reinforced pour corners, reverse formed flattened edges, anti-jamming design, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	232		\$21.39	\$4,962.48	Does not include broken case fee (\$5.10) everytime case is broken.	30222	\$15.92	\$3,693.44	
10		STEAM TABLE PAN, STAINLESS STEEL	Vollrath Model No. (30042) Packed 6 ea Super Pan V® Food Pan, full size, 4" deep, 14 qt capacity, 22 gauge, 300 series stainless steel, reinforced pour corners, reverse formed flattened edges, anti-jamming design, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	289		\$28.69	\$8,291.41	Does not include broken case fee (\$5.10) everytime case is broken.	30042	\$34.31	\$9,915.59	
11		STEAM TABLE PAN, STAINLESS STEEL	Vollrath Model No. (30062) Packed 6 ea Super Pan V® Food Pan, full size, 6" deep, 22 gauge, 21 qt capacity, 300 series stainless steel, reinforced pour corners, reverse formed flattened edges, anti-jamming design, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	318		\$42.87	\$13,632.66	30062	30062	\$51.28	\$16,307.04	

					1				1			
12			Vollrath Model No. (30262) Packed 6 ea Super Pan V® Food Pan, 1/2 size, 6" deep, 10 qt capacity, 22 gauge, 300 series stainless steel, reinforced pour corners, reverse formed flattened edges, anti-jamming design, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	88		\$27.06	\$2,381.28	30262	30262	\$31.73	\$2,792.24	
13			Vollrath Model No. 30442 Packed 6 ea Super Pan V® Food Pan, 1/4 size, 4" deep, 3 qt capacity, 22 gauge, 300 series stainless steel, reinforced pour corners, reverse formed flattened edges, anti-jamming design, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	68		\$16.07	\$1,092.76	Does not include broken case fee (\$5.10) everytime case is broken.	30442	\$19.22	\$1,306.96	
14		STEAM TABLE PAN, STAINLESS STEEL	Alegacy Foodservice Products Model No. (8002P) Packed 6 ea Rest-Rite™ Steam Table Pan, full size, 8-1/2 qt., 20-3/4* x 12-3/4* x 2-1/2* deep, rectangular, reinforced edge, perforated, 24 gauge 18/8 stainless steel, NSF	107	Chef Supreme	\$12.10	\$1,294.70	CHEFSTP-1-2-24	30022	\$25.58	\$2,737.06	
15		BUN/ SHEET PAN RACK	Advance Tabco Model No. PR20-3W-2X Pan Rack, mobile, full height, end loading, 20-1/4"W x 26"D x 69-1/4"H,(20) 18" x 26" or (40) 13" x 18" sheet pan capacity, slides on 3" centers, open sides, all-welded aluminum construction, 5" swivel casters, NSF (minimum order 7)	57	Winholt	\$294.73	\$16,799,61	WIHAL-18208	PR20-3W-1X	\$396.50	\$22,600.50	
16		CAN OPENER	Can Opener, manual, #1™ with plated base (for cans up to 11" tall) "Old Reliable"™ HEAVY DUTY	25		\$117.94	\$2,948.50	EDL1	1	\$142.96	\$3,574.00	
17			Edlund Model No. (K004SP) #1™ Knife, single pack (must purchase in multiples of 50)	84		\$14.85	\$1,247.40	EDLK0045SP	K004SP	\$18.91	\$1,588.44	
18		CART	Carlisle UC452523 Gray Large Bin Top 2-Shelf Utility Cart- 45" x 25" x 33"	89		\$253.39	\$22,551.71	UC452523	UC452523	\$237.80	\$21,164.20	
19		U-BOAT	New Age Model No. 95762 U-Boat Cart, 18" x 52-1/4" x 60", single platform, (4) 5" x 1-1/4" (C450) polyurethane, platform swivel casters & (2) 6" x 2" (C518) polyurethane, platform rigid casters, 1500 lb. capacity, Made in USA	66		\$543.42	\$35,865.72	Shipping is NOT included in this total as this item will drop ship, please see estimated in Ace Mart Header	95762	\$654.12	\$43,171.92	
20			Colander, 16 quart, 16-1/2" dia. x 7-1/8" deep, riveted handles, rolled edge, footed base, heavy-gauge aluminum	21	Winco	\$30.24	\$635.04	WINCAOL-168H	ALC-16	\$31.30	\$657.30	
21	THE STATE OF THE S	CONTAINER	4 qt. container	116	Cambro	\$6.51	\$755.16	CAM4SFCW-135	1195107	\$7.12	\$825.92	
22		CONTAINER COVER	4 qt. lid for container above	104	Cambro	\$1.84	\$191.36	CAMSFC2-452	1197008	\$2.01	\$209.04	
23			Cambro Model No. (12186P148) Packed 6 ea Food Storage Container, 12" x 16" x 6", 3 gallon capacity, resist stains, dishwasher safe, polyethylene, natural white, NSF	66	danisio	\$11.89	\$784.74	12186P148	12186P148	\$13.81	\$911.46	
24			Cambro Model No. (12189P148) Packed 6 ea Food Storage Container, 12" x 18" x 9", 4.75 gallon capacity, resist stains, dishwasher safe, polyethylene, natural white, NSF	44		\$15.68	\$689.92	Does not include broken case fee (\$10.20) everytime case is broken.	12189P148	\$18.22	\$801.68	
25		CONTAINER COVER	Cambro Model No. (1218CP148) Packed 6 ea Cover, food storage, flat, 12" x 18", polyethylene, natural white, NSF	82		\$7.31	\$599.42	Does not include broken case fee (\$10.20) everytime case is broken.	1218CP148	\$8.49	\$696.18	
26		CONTAINER BOX	Cambro Model No. (182615P148) Packed 3 ea Food Storage Container, 18" x 26" x 15", 22 gallon capacity, resist stains, dishwasher safe, polyethylene, natural white, NSF	33		\$38.50	\$1,270.50	Does not include broken case fee (\$10.20) everytime case is broken.	182615P148	\$44.73	\$1,476.09	
27		CONTAINER COVER	Cambro Model No. (1826CP148) Packed 6 ea Cover, food storage, flat, 18° x 26°, polyethylene, natural white, NSF	39		\$12.15	\$473.85	Does not include broken case fee (\$10.20) everytime case is broken.	1826CP148	\$14.12	\$550.68	

					 		1		1 1		
28	3	DICE CLEANING KIT	Robot Coupe Model No. 39881 Dice Cleaning Kit, fits 5mm, 8mm & 10mm dicing kit, (3) piece set includes: reversible grid holder, scraper tool and cleaning tool	19	\$150.70	\$2,863.30	39881	39881	\$176.78	\$3,358.82	
29		DICING KIT	Robot Coupe Model No. 28112 Dicing Kit, 10 x 10mm (3/6"), includes: slicing disc (28130) & dicing grid (28119)	22	\$361.82	\$7,960.04	28112	28112W	\$424.44	\$9,337.68	
30	0	DICING KIT	Robot Coupe Model No. 28111 Dicing Kit, 8 x 8mm (5/16"), includes: slicing disc (28129) & dicing grid (28118)	17	\$361.82	\$6,150.94	28111	28111W	\$424.44	\$7,215.48	
31		DICING KIT	Robot Coupe Model No. 28197 Dicing Kit, 12 x 12mm (15/32"), includes: slicing disc & dicing grid	18	\$361.82	\$6,512.76	28197	28197W	\$424.44	\$7,639.92	
32	6	DICING KIT	Robot Coupe Model No. 102690 Discharge Plate, for CL-50E, CL-50 Ultra E, CL-50 Gourmet, R502E, R602E, R502X, CL-50, CL-52, CL-55, CL-60, R4N, R4X, R6N, R6VN, R6X	19	\$24.36	\$462.84	102690	102690	\$28.01	\$532.19	
33	6	DICING KIT	Robot Coupe Model No. 28052 Julienne Disc, 4 x 4mm (5/32")	23	\$190.01	\$4,370.23	28052	28052W	\$222.89	\$5,126.47	
33		DICING KIT	NODOL COOPE MODEL NO. 2002. Suite Hie Disc, 4 x 4 Hill (3/02.)	20	\$190.01	\$4,370.23	28052	28052W	\$222.09	\$5,120.47	
34		DICING KIT	Robot Coupe Model No. 27068 Slicing Disc, 2mm (5/64"), ripple cut		\$192.92	\$3,858.40	27068	27068W	\$226.31	\$4,526.20	
35		DICING KIT	Robot Coupe Model No. 28065 Slicing Disc, 5mm (3/16")	18	\$178.36	\$3,210.48	28065	28065W	\$209.23	\$3,766.14	
36		DICING KIT	Robot Coupe Model No. 28066 Slicing Disc, 8mm (5/16")	16	\$470.26	\$0.052.70	28066	20220011	#200.02	¢2.247.60	
36		DICING KIT	Nobol Coupe woder No. 20000 Sticing Disc, Offin (5) to)	18	\$178.36	\$2,853.76	28066	28066W	\$209.23	\$3,347.68	
37		DICING KIT	Robot Coupe Model No. 28067 Slicing Disc, 10mm (3/8")		\$178.36	\$3,210.48	28067	28067W	\$209.23	\$3,766.14	
38	8000	BLADE STORAGE	Robo coupe blade wall hanger	24		\$0.00	NO BID	107812	\$75.15	\$1,803.60	
39		BLADE STORAGE	Robot Coupe R255 Freestanding Rack for Food Processor Discs - 8 Disc Capacity	50	\$14.56	\$728.00	R255	R255	\$17.08	\$854.00	
40		DUNNAGE RACK	Advance Tabco Model No. (DUN-2036-2X) Special Value Dunnage Rack, square bar, one tier, 36"W x 20"D x 12"H, aluminum finish, 1500 lb. load capacity (evenly distributed) (minimum order 7), NSF	101							
40		TOMATO SCOOPER/CORER	Vollrath Model No. (1401) Packed 24 ea Redco® Tomato King® Scooper, (2) per card	47	\$82.50 \$3.74	\$8,332.50 \$175.78	DUN-2036-1X	DUN-2036-1X	\$91.50 \$4.39	\$9,241.50 \$206.33	
42		GLOVE	San Jamar Model No. (PBS301-M) Butcher Glove, medium, fits either hand, contains Double Guard™ antimicrobial protection, stainless steel & cut resistant nylon cord, meets OSHA standard, ANSI Level 4 protection	144	\$16.55	\$2,383.20	DFG1000-M	DFG1000-M	\$18.36	\$2,643.84	
43	15	GLOVE	San Jamar Model No. (PBS301-S) Butcher Glove, small, fits either hand, contains Double Guard™ antimicrobial protection, stainless steel & cut resistant nylon cord, meets OSHA standard, ANSI Level 4 protection	86	\$16.55	\$1,423.30	DFG1000-S	DFG1000-S	\$18.36	\$1,578.96	

44		CUTTING BOARD	Alegacy Foodservice Products Model No. (PER1218MD) Packed 6 ea ColorCode E™ Economy Cutting Board, 12" x 18" x 1/2", rectangular, both sides USA (individually shrink-wrapped)ble, non-absorbent, non-porous, dishwasher safe, medium-density polyethylene, white, NSF, Made in USA (individually shrink-wrapped)	126	Snan Jamar	\$21.44	\$2,701.44	CBG12812WH	57361201	\$10.55	\$1,329.30	
45		CUTTING BOARD RACK	Alegacy Foodservice Products Model No. (26099) Cutting Board Storage Rack, 6 slot, 12" x 11-1/2" x 10-3/4"	28	Winco	\$10.75	\$301.00		26099	\$20.64	\$577.92	
46		KNIFE	Dexter Russell Model No. (S145-10PCP) Packed 6 ea Sani-Safe® (12433) Chef's/Cook's Knife, 10", stain-free, high-carbon steel, textured, polypropylene white handle, Perfect Cutlery Packaging, NSF Certified	165		\$23.04	\$3,801.60		S145-10PCP	\$26.02	\$4,293.30	
47		KNIFE	Dexter Russell Model No. (S104-3PCP) Packed 8 pk Sani-Safe® (15383) Cook's Style Paring Knife, 3-1/4", stain-free, high-carbon steel, non-slip, textured, polyproplene white handle, Perfect Cutlery Packaging, NSF Certified, Made in USA (3 each per pack)	200		\$13.12	\$2,624.00		S104-3PCP	\$13.81	\$2,762.00	
48		KNIFE	Dexter Russell Model No. (S158SC-PCP) Packed 6 ea Sani-Safe® (13483) Utility Slicer, 8", scalloped edge, stain-free, high-carbon steel, textured, polypropylene white handle, Perfect Cutlery Packaging, NSF Certified, Made in USA	147		\$13.64	\$2,005.08		S158SC-PCP	\$15.10	\$2,219,70	
49		KNIFE SHARPENER	12* Round Regular Cut Knife Sharpening Steel with Black Plastic Handle	25		\$6.38	\$159.50		12SXL-PCP	\$28.00	\$700.00	
50		KNIFE SHARPENER	Edgecraft 4650100A Packed 6 ea, M465 Chef's Choice® Pronto® Diamond Hone® Knife Sharpener, manual, 2-stage for straight edge and serrated knives, 100% diamond abrasives embedded on conical wheels, precision angle guides, dishwasher safe, Made In USA	36	FMP	\$7.95	\$286.20	280-1214	4630100	\$34.59	\$1,245.24	
51	uni	KNIFE RACK	Edlund KR-699 12" Enclosed Stainless Steel Knife Rack with Open Back	17	FWP							
52	Innered Control of the Control of th	MEASURING CUP	Rubbermaid Model No. (FG321000CLR) Packed 12 ea Bouncer® Measuring Cup, 1 cup, -40°FL/40°C to 212° F/100°C temperature range, measurement markings in red & blue, break resistant polycarbonate, clear, NSF, S.O.S. (Special Order Smallwares)	84	Cambro	\$70.20 \$3.62	\$1,193.40 \$304.08	KR-699	KR-699 FG321000CLR	\$85.10 \$7.50	\$1,446.70 \$630.00	
53	Tinnanti	MEASURING CUP	Rubbermaid Model No. (FG321500CLR) Packed 6 ea Bouncer® Measuring Cup, 1 pint, -40°F/-40°C to 212° F/100°C temperature range, measurement markings in red & blue, break resistant polycarbonate, clear, NSF, S.O.S. (Special Order Smallwares) product;	60	Cambro	\$6.73	\$403.80	50MCCW135	FG321500CLR	\$12.97	\$778.20	
54		MEASURING CUP	Vollrath Model No. (47119) Packed 12 ea Measuring Cup Set, four-piece, 300 series stainless steel, measurements stamped into side of each cup, integral spout, dishwasher safe, set contains; 1-cup, 1/2-cup, 1/3-cup, 1/4-cup, imported	93		\$14.50	\$1,348.50	Does not include broken case fee (\$5.10) everytime case is broken.	47119	\$17.35	\$1,613.55	
55	Services.	MEASURING CUP	Rubbermaid Model No. (FG321700CLR) Packed 6 ea Bouncer® Measuring Cup, 2 quart, -40°F/-40°C to 212° F/100°C temperature range, measurement markings in red & blue, break resistant polycarbonate, clear, NSF, S.O.S. (Special Order Smallwares)	66	Cambro	\$10.43	\$688.38	200MCCW135	FG321700CLR	\$19.65	\$1,296.90	
56	Britan	MEASURING CUP	Rubbermaid Model No. (FG321800CLR) Packed 6 ea Bouncer® Measuring Cup, 4 quart, -40°F/-40°C to 212° F/100°C temperature range, measurement markings in red & blue, break resistant polycarbonate, clear, NSF, S.O.S. (Special Order Smallwares)	88	Cambro	\$11.33	\$997.04	400MCCW135	FG321800CLR	\$21.34	\$1,877.92	
57		MEASURING SPOON	Vollrath Model No. (47118) Packed 12 ea Measuring Spoon Set, four-piece, 18-8 stainless, capacities stamped in teaspoons & milliliters, set contains; 1-tbl., 1-tsp., 1/2-tsp., 1/4-tsp., packaged in individual blister pack, imported	115		\$4.87	\$560.05	47118	47118	\$5.71	\$656.65	
58		MENU CARD HOLDER/ NUMBER STAND	Tablecraft Products Model No. (85110) Packed 12 ea Menu Holder, 8-1/2" x 11-1/4", two-sided, acrylic, Made in USA (12 each minimum order)	249	CalMil	\$8.38	\$2,086.62	513	85110	\$12.71	\$3,164.79	

									1			
59	90	MESH STRAINER	Alegacy Foodservice Products Model No. (S8099) Packed 12 ea Strainer, 10-1/4" bowl, 21" overall length, double pan hook, flat-bottom wood handle, stainless steel, fine double mesh	28	Tablecraft	\$8.08	\$226.24	No.89	18099	\$11.94	\$334.32	
60		MESH STRAINER	Alegacy Foodservice Products Model No. S9095 Packed 12 ea E™ Economy Strainer, 6-1/4" bowl, 13" overall length, double pan hook, flat-bottom wood handle, stainless steel, fine single mesh	38	Tablecraft	\$2.99	\$113.62	No.86	18096	\$4.79	\$182.02	
61		MIXING BOWL, METAL	Alegacy Foodservice Products Model No. (S774) Packed 12 ea 700 Series Mixing Bowl, 4 qt., 10-3/4" dia., round, rolled edge, 18/8 stainless steel, mirror polished finish	60	ABC Procurement	\$2.66	\$159.60	69014	ABC Procurement	\$3.07	\$184.20	
62		MIXING BOWL, METAL	Alegacy Foodservice Products Model No. (S772) Packed 12 ea 700 Series Mixing Bowl, 1-1/2 qt., 7-3/4" dia., round, rolled edge, 18/8 stainless steel, mirror polished finish	50	Vollrath	\$10.02	\$501.00	MBR-04	Vollrath	\$1.59	\$79.50	
63		MIXING BOWL, METAL	700 Series Mixing Bowl, 13 qt., 16" dia., round, rolled edge, 18/8 stainless steel, mirror polished finish	58	ABC Procurement	\$5.52	\$320.16	69014	ABC Procurement	\$8.33	\$483.14	
64		MIXING BOWL, METAL	Mixing Bowl, 8 quart capacity, flat base, curved lip, economy stainless steel, mirror finish (12 each minimum order)	53	ABC Procurement	\$4.00	\$212.00	MBR-08	ABC Procurement	\$4.45	\$235.85	
65		MIXING PADDLE	Alegacy Foodservice Products Model No. (19942) Mixing Paddle, 4-1/2" x 8" blade, 42" overall length, 18/8 stainless steel, polished finish	19	ABC Procurement	\$13.75	\$261.25	SP-42-S	ABC Procurement	\$17.08	\$324.52	
66		MIXING PADDLE	Mixing Paddle, 36", stainless steel (Qty Break = 12 each)	18	ABC Procurement	\$13.44	\$241.92	SP36-S	ABC Procurement	\$14.39	\$259.02	
67		OVEN MITT	San Jamar Model No. (800FG17) Packed 72 pr BestGuard™ Oven Mitt, 17", temperature range up to 450° F (232° C) for 30 seconds, ambidextrous, Webguard™ protection, fire retardant, clean with damp cloth, tan	264	San Jamar	\$7.18	\$1,895.52	811TG17	San Jamar	\$11.77	\$3,107.28	
68		OVEN MITT	San Jamar Model No. (801SG15) Packed 1 pr Oven/Freezer Mitt, 15", temperature range: 0° F (-18° C) to 400° F (204° C) for 15 seconds, non-stick coating, rinses clean, hanging loop, silicone, silver	169	Winco	\$2.94	\$496.86	OMF-15	Winco	\$6.56	\$1,108.64	
69		PORTION SCALE	Rubbermaid Model No. (FGY16R) Packed 6 ea Pelouze® by Rubbermaid Scale, portion, dial type, top loading counter model, rotating dial, orange color-coded lens, vertical face, 16 oz. x 1/4 oz. graduation, anodized aluminum chassis stainless steel platform serves as handle, Y-Line, NSF, S.O.S. (Special Order Smallwares) product; see SOS document for details	32	WIIICO	Ψ2.54	\$0.00	Item discontinued with no responsible equivalent	William	\$121.40	\$3,884.80	Item discontinued, alternate modle Edlund
				21								
70		PORTION SCALE POT RACK HOOK	Edlund RF-50 50 lb. Extra Heavy-Duty Receiving Scale with 9" x 11" Platform FMP Model No. (280-1085) Sliding Pot Rack Hook, double, for 1/4" x 2" bar, stainless steel	139	Edlund Chef's Supreme	\$203.58 \$3.98	\$4,275.18 \$553.22	HC-50 CHEFPOTHOOK3	Edlund Chef's Supreme	\$246.78 \$1.26	\$5,182.38 \$175.14	
72		SCRAPER	Alegacy Foodservice Products Model No. (FS8446) Packed 144 ea Bowl Scraper, 5-3/4" x 3-1/2", flexible plastic, white	138	Chef's Supreme	\$3.92	\$540.96	sold by dozen	Chef's Supreme	\$1.66	\$229.08	

		Model No.										
73	37	(536BKDC) Packed 6 ea. Focus Foodservice™ - Peeler, 7-1/2"L, Santoprene® handI+D99	Vollrath Model No. 47719 Packed 6 ea Wire Mesh Skimmer, 17-2/3", one-piece heavy duty 18/8 stainless steel, hooked satin-finish handle, blade diameter 9-2/3", imported	25		\$23.18	\$579.50	Does not include broken case fee (\$5.10) everytime case is broken.		\$27.72	\$693.00	
74		SOLID TURNER	Dexter Russell Model No. (S285-4PCP) Packed 6 ea Sani-Safe® (1972A) Hamburger Turner, 5" x 4", offset, solid, beveled, heavy, balanced, stainless steel blade, textured, polypropylene white handle, Perfect Cutlery Packaging, NSF Certified	55	Dexter	\$20.20	\$1,111.00	1515	Dexter	\$22.65	\$1,245.75	
75		SOLID TURNER	Dexter Russell Model No. S286-6RC Packed 6 ea Sani-Safe® (16383) Hamburger Turner, 6" x 3", round cornered, solid, stiff, offset, stainless steel blade, textured, polypropylene white handle, NSF Certified	76	Dexter	\$17.50	\$1,330.00	S286-6PCP	Dexter	\$19.46	\$1,478.96	
76		SPATULA	Rubbermaid Model No. (FG1963000000) Packed 24 ea Scraper, 13-1/2", high heat, resists heat up to 500°F/260°C, Clean-Rest™, cool touch red handle, resists scratching and melting, stain resistant blade, NSF, S.O.S. (Special Order Smallwares)	175		\$16.31	\$2,854.25	Does not include broken case fee (\$5.10) everytime case is broken.		\$17.74	\$3,104.50	
77		SPOON/LADLE	Alegacy Foodservice Products Model No. (5744) Packed 12 ea Food Portioner, 4 oz., 10-1/2"L, solid, one-piece, with hanging hole, grooved plastic handle, green	40	Vollrath	\$9.88	\$395.20	62172	Vollrath	\$2.02	\$80.80	
78	6	SPOON/LADLE	Winco Model No. (FPS-8) Packed 72 ea Food Portioner, 8 oz., one-piece, solid, stainless steel, blue (Qty Break = 12 each)	35	Vollrath	\$10.39	\$363.65	62182	Vollrath	\$2.54	\$88.90	
79		SPOON/LADLE	Alegacy Foodservice Products Model No. 5748P Packed 12 ea Food Portioner, 8 oz., 10-1/2"L, perforated, one-piece, with hanging hole, grooved plastic handle, blue	26	Vollrath	\$10.19	\$264.94	Does not include broken case fee (\$5.10) everytime case is broken.	Vollrath	\$3.74	\$97.24	
80	7	SPOON/LADLE	6oz (3/4cup)	30	Vollrath	\$3.52	\$105.60	46816	Vollrath	\$2.49	\$74.70	
81	0	STANDARD ROUND BOWL DISHER	Vollrath 47388 Packed 12 ea Disher, standard length, 8 oz., size 4, 3-5/8" dia. stainless steel scoop & shaft, one-piece orange color-coded 6-77/6" long ergonomic handle, designed for left or right-handed users, not recommended for use with ice cream or hard products, NSF 12/cs broken case fee	175	Vollrath	\$17.90	\$3,132.50	Does not include broken case fee (\$5.10) everytime case is broken.	Vollrath	\$21.41	\$3,746.75	
82	00	STANDARD ROUND BOWL DISHER	Vollrath Model No. 47391 Packed 12 ea Disher, standard length, 3.7 oz., size 8, 2-7/8" dia. stainless steel scoop & shaft, one-piece gray color-coded 6-3/8" long ergonomic handle, designed for left or right-handed users, not recommended for use with ice cream or hard products, NSF	178		\$12.35	\$2,198.30	Does not include broken case fee (\$5.10) everytime case is broken.		\$14.77	\$2,629.06	
83	0.0	STANDARD ROUND BOWL DISHER	Vollrath Model No. (47395) Packed 12 ea Disher, standard length, 2 oz., size 16, 2-1/4" dia. stainless steel scoop & shaft, one-piece royal blue color-coded 6-5/8" long ergonomic handle, designed for left or right-handed users, not recommended for use with ice cream or hard products, NSF	129		\$12.35	\$1,593.15	Does not include broken case fee (\$5.10) everytime case is broken.		\$14.77	\$1,905.33	
84		STANDARD ROUND BOWL DISHER	Vollrath Model No. 47398 Packed 12 ea Disher, standard length, 1.13 oz., size 30, 1-7/8" dia. stainless steel scoop & shaft, one-piece black color-coded 6-3/8" long ergonomic handle, designed for left or right-handed users, not recommended for use with ice cream or hard products, NSF	125		\$12.35	\$1,543,75	Does not include broken case fee (\$5.10) everytime case is broken.		\$14.77	\$1,846.25	
85	0	STANDARD ROUND BOWL DISHER	Vollrath Model No. 47392 Packed 12 ea Disher, standard length, 3.2 oz., size 10, 2-3/4* dia. stainless steel scoop & shaft, one-piece ivory color-coded 6-1/2* long ergonomic handle, designed for left or right-handed users, not recommended for use with ice cream or hard products, NSF	122		\$12.35	\$1,506.70	Does not include broken case fee (\$5.10) everytime case is broken.		\$14.77	\$1,801.94	
86	0	STANDARD ROUND BOWL DISHER	Vollrath Model No. 47390 Packed 12 ea Disher, standard length, 4.7 oz., size 6, 3* dia. stainless steel scoop & shaft, one-piece white color-coded 6-5/6* long ergonomic handle, designed for left or right-handed users, not recommended for use with ice cream or hard products, NSF	110		\$12.35	\$1,358.50	Does not include broken case fee (\$5.10) everytime case is broken.		\$14.77	\$1,624.70	

		1										
87	0	STANDARD ROUND BOWL DISHER	Vollrath Model No. 47390 Packed 12 ea Disher, standard length, SIZE #5 - 3/4CUP ergonomic handle, designed for left or right-handed users, not recommended for use with ice cream or hard products, NSF	119		\$12.35	\$1,469.65	Does not include broken case fee (\$5.10) everytime case is broken.		\$14.77	\$1,757.63	
88	0	STANDARD ROUND BOWL DISHER	Vollrath Model No. 47393 Packed 12 ea Disher, standard length, 2.8 oz., size 12, 2-1/2* dia. stainless steel scoop & shaft, one-piece green color-coded 6-5/8* long ergonomic handle, designed for left or right-handed users, not recommended for use with ice cream or hard products. NSF	82		\$40.05	04.040.70	Does not include broken case fee		444.77	* • • • • • • • • • • • • • • • • • • •	
88		BOWL DISHER	products, NSF			\$12.35	\$1,012.70	(\$5.10) everytime case is broken.	-	\$14.77	\$1,211.14	
89		STANDARD ROUND BOWL DISHER	Vollrath Model No. (47147) Packed 12 ea Disher, round bowl, size 40 (3/4 oz. capacity), 1-9/6" bowl dia., 18-8 stainless with one-piece color coded orchid plastic handle with all-natural antimicrobial NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	98		\$8.72	\$854.56	Does not include broken case fee (\$5.10) everytime case is broken.		\$11.36	\$1,113.28	
90		THERMOMETER	Cooper-Atkins Model No. (25HP-01-1) Packed 6 ea Refrigerator/Freezer/Dry Storage Thermometer, colored 2" (5cm) dia. dial zoned with specific applications and HACCP guidelines, temperature range -20 to 80°F (-29 to 27°C), ±2°F/±1°C temperature accuracy, hang or stand, stainless steel, NSF (carded) (36 master carton) (Cooper)	254	Tyler Precision	\$2.34	\$594.36	3507FS	Tyler Precision	\$6.23	\$1,582.42	
91		UTILITY TONGS	Carlisle Model No. (411207) Packed 12 ea Carly® Utility Tong, 12"L, one-piece, temperature range up to 212° F & dry heat up to 270° F, break resistant, dishwasher safe, polycarbonate, clear, NSF	33	Carlisle	\$3.70	\$122.10	471203	Carlisle	\$3.05	\$100.65	
92	6	UTILITY TONGS	Vollrath Model No. (47309) Packed 12 ea Utility Tong, heavy duty stainless, 9-1/2", imported	56	ABC Procurement	\$0.81	\$45.36	UTR-09	ABC Procurement	\$3.73	\$208.88	
93	7	UTILITY TONGS	Vollrath Model No. (47312) Packed 12 ea Utility Tong, heavy duty stainless, 12", imported	46	ABC Procurement	\$1.11	\$51.06	UTR-12	ABC Procurement	\$5.00	\$230.00	
94		VEGETABLE PEELER	Crown Brands, Ilc Model No. (536BKDC) Packed 6 ea Focus Foodservice™ - Peeler, 7-1/2"L, Santoprene® handle, 18/8 stainless steel	129	Tablecraft	\$1.67	\$215.43	45000	Tablecraft	\$3.82	\$492.78	
95	A	FREEZER JACKET	San Jamar Model No. F726J F726J/ Medium BLUE Freezer Jacket Hip Length, 420 Denier waterrepellent, tear and abrasionresistant nylon PAC cloth, 11.25 oz polyester fiberfill. Velcro fly over heavy duty brass zipper. Optional hood snaps on.	56			\$0.00	NO BID		\$62.46	\$3,497.76	
96		GLOVE	Custom CUSTOM Packed pr Large 12" Red Freezer / Frozen Food Textured PVC Gloves	60			\$0.00	NO BID		\$10.05	\$603.00	
97		GLOVE	GLOVE, FREEZER, XLARGE \$7.81 Custom CUSTOM Packed pr XLarge 12" Red Freezer / Frozen Food Textured PVC Gloves	20			\$0.00	NO BID		\$20.89	\$417.80	
98		FRESH WHIP/WHISK	Chef's Supreme Model No. WHIP-P12 (CHEFWHIP-P12) 12" Stainless French Whip.	19		\$2.98	\$56.62			\$6.64	\$126.16	
99		PIANO WHIP	Vollrath 47256 12" Stainless Steel Piano Whip	31	Vollrath	\$9.41	\$291.71	47300	Vollrath	\$10.76	\$333.56	
100		FRESH WHIP/WHISK	Chefs Supreme Model No. WHIP-P16 (CHEFWHIP-P16) 16" Stainless French Whip.	40		\$3.91	\$156.40			\$7.60	\$304.00	
101		PIANO WHIP	Vollrath 47258 16* Stainless Steel Piano Whip	25		\$11.20	\$280.00	47005		\$12.79	\$319.75	

102		PIZZA CUTTER	Dexter Russell Model No. (P177A-PCP) Packed 6 ea Sani-Safe® (18023) Pizza Cutter, 4", stain-free, high-carbon steel, replaceable blade, textured, polypropylene white handle, Perfect Cutlery Packaging, Made in USA	136		\$16.44	\$2,235.84			\$21.14	\$2,875.04	
103		POTATO MASHER	Masher, 25"L, 5" dia base, round face, hardwood handle, nickel-plated	35	Winco	\$5.42	\$189.70	PTM-24S	Winco	\$11.21	\$392.35	
104	6	SCOOP	Rubbermaid Model No. (FG288600CLR) Packed 6 ea Bouncer® Utility Scoop, 64 oz., smooth surface, dishwasher safe, break-resistant polycarbonate, clear, NSF, S.O.S. (Special Order Smallwares) product; see SOS document for details	52	Mr. Tonic	\$4.91	\$255.32	MRTIS640ZCLR	Mr. Tonic	\$13.77	\$716.04	
105		THERMOMETER	Cooper-Atkins DPP400W-0-8 Packed 6 ea Pocket Test Thermometer, pen-style, digital type, 2-3/4" (69.9mm) stem length, 3/4" (19mm) tip40 to 392°F/-40 to 200°C temperature capacity, ±2°F/1°C from 14° to 212°F (-10° to 100°C) ±3°F (1.5°C) temperature accuracy, reduced tip, 6 second response time, LCD display, min/max/hold modes, on/off button, auto shut-off after 10 minutes, waterproof, low battery indicator light, antimicrobial additive, protective sheath, 1.5/#LR44 battery type included, 0.9 oz., NSF, CE	495	Taylor Precision	\$16.96	\$8,395.20	9848EFDA	Taylor Precision	\$20.01	\$9,904.95	
				45		-						
106		THERMOMETER LEMON/LIME SQUEEZER	Taylor 9523 Digital Laser Infrared Thermometer Lime Squeezer, 2-1/2" dia., 8" long, dishwasher safe, enamel coated, aluminum, green (Qty Break = 6 each)	37	Mr. Tonic	\$57.02 \$5.13	\$2,565.90 \$189.81	MRTSQUEEZ	Mr. Tonic	\$51.97 \$4.94	\$2,338.65 \$182.78	
108	16	UTILITY TONGS	Vollrath Model No. (4781220) Packed 12 ea Utility Tong, one-piece, equipped with all-natural antimicrobial, 12" (30.5 cm), black kool-Touch®, stainless steel, 20 ga., springless design, ergonomic handle, heat resistant to 180° F (82.1 C), dishwasher safe, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	24		\$9.70	\$232.80			\$11.36	\$272.64	
109	_	UTILITY TONGS	Vollrath Model No. (4780920) Packed 12 ea Utility Tong, one-piece, equipped with all-natural antimicrobial, 9-1/2" (24.1 cm), black kool-Touch®, stainless steel, 20 ga., springless design, ergonomic handle, heat resistant to 180° F (82.1 C), dishwasher safe, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	24		\$8.43	\$202.32			\$9.88	\$237.12	
110		WEDGER	Sunkist S-106 Complete Sectionizer Unit, manual, (6) cut wedges, core remover, interchangeable blade cups, dishwasher safe, apple, NSF (must use plunger #33)	14		\$281.12	\$3,935.68	Shippig is NOT included in this total as this Item will be drop ship, please see estimate in Ace Mart Header		\$291.58	\$4,082.12	
111	*	WEDER PARTS	Tomato Set, (7) slice, (fits S-15 & S-16)	22		\$70.56	\$1,552.32	Shippig is NOT included in this total as this item will be drop ship, please see estimate in Ace Mart Header		\$76.86	\$1,690.92	
112		CROWD CONTROL	Lancaster Table & Seating Chrome 40" Crowd Control / Guidance Stanchion with 10' Retractable Belt	115	American Metalcraft	\$105.84	\$12,171.60	RSCLC	American Metalcraft	\$60.22	\$6,925.30	
113		SALAD SPINNER	Chef-Master Salad Dryer, 5 gallon, spins clockwise & counter-clockwise, built- in brake, finger grip handle, side handles, sealed gearbox, aluminum crank shaft, plastic, FDA approved, ETL, ANSI, NSF	21		\$115.12	\$2,417.52			\$123.46	\$2,592.66	
114	-	SERVING SPOON	Alegacy Foodservice Products Model No. (4781) Packed 12 eaConventional Serving Spoon, 21"L, solid, extra long grooved handle, stainless steel, polished finish	44	ABC Procuremer	\$1.93	\$84.92		ABC Procurement	\$3.06	\$134.64	
115		DIGITAL SCALE	San Jamar / Escali SCDG33BK 33 lb. Digital Portion Control Kitchen Scale	58		\$104.47	\$6,059.26			\$103.07	\$5,978.06	

116		DOUGH SCRAPER	Dexter Russell 19783 Sani-Safe 6" Dough Cutter/Scraper	94		\$6.61	\$621.34			\$7.47	\$702.18	
117		COMMERCIAL DOLLY	Standard Steel General Purpose Hand Truck, Load Capacity 650 lb, 51 in x 19	31		\$137.99	\$4,277.69	2000 170 27		\$144.00	\$4,464.00	
118			Choice 30 Qt. Standard Weight Stainless Steel Mixing Bowl and Stand with	34	Gusto	\$137.99	\$0.00	GUSPLATCART NO BID	Gusto	\$1,315.13		
119		CAN OPENER	Edlund 270 Two-Speed Tabletop Heavy-Duty Electric Can Opener - 115V	14		\$1,467.18	\$20,540.52			\$1,778.49	\$24,898.86	
400		Immersion Blender	Lightweight and ergonomic rubberized comfort grip, 14* removable shaft	62		\$487.40	\$30,218.80			CE410	\$40.557.00	
120		Commercial		19	Waring			WSB55	Waring	\$654.16	\$40,557.92	
121	Amana RCS10TS 1000w Commercial Microwave w/ Touch Pad, 120v Estimates yearly spend					\$514.57	\$9,776.83 \$360,396.29	AWARDED VENDOR		\$586.16	\$11,137.04 \$476,744.93	